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6 In Model A, should the subject ratings influence the provider rating?  
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7 In Model B, do you agree with the method for how the subject ratings inform the 
provider-level rating?  
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13 On balance, are you in favour of introducing a measure of teaching intensity in 
the TEF, and what might be the positive impacts or unintended consequences of 
implementing a measure of teaching intensity?  
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14 What forms of contact and learning (e.g. lectures, seminars, work based learning) 
should and should not be included in a measure of teaching intensity?  
 
M31&(?-).(#,3$1&#8*1$"#)."#3//3')$%-)B#)3#1"*'%#?3'"#*23$)#)."#3$)03?"(#3;#)."#
="*0.-%+#X%)"%(-)B#/-13)(#-%#3'&"'#)3#2"))"'#$%&"'()*%&#*%&#"R/13'"#*11#)."#-(($"(#
2";3'"#;3'?-%+#*%#3/-%-3%<#
 
 
15 What method(s)/option(s) do you think are best to measure teaching intensity? 
Please state if there are any options that you strongly oppose and suggest any 
alternative options.  
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16 Do you have any other comments on the design of subject-level TEF that are not 
captured in your response to the preceding questions in this consultation? 
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